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N:P,0s.K,O 16:16:16 N:P,05:K,O0 20:20:20
N P K
1
(mg/1) (Nmg/ )
H12-H16 H17-H21 H12-H16 H17-H21
36 * 1.0 2.8 + 11 23 % 0.2 16 + 0.9
18.2 + 4.2 8.9 + 6.3 120 4.3 58 % 5.7
25% 13.0 + 1.6 6.3 + 34 82 = 21 39 = 3.2
50% 105 1.4 6.0 + 34 6.7 % 1.6 38 = 3.3
75% 95 = 0.5 54 + 24 59 % 0.9 35 £ 24
mg/ (mg/L)x L/ 1
2 ( 21 )
- pH EC  &R# 2u%w# Av-P,05 Pt JEHT (mg/1009) CEC )% J@hia & Av-N
(KCI) (mS/cm) (%) mg/100g CaO MgO K,0 meq/100g (%) (%) mg/100g
A R 6.5 0.1 6.4 0.4 7 1,007 91 11 34 121 11 3.4
b ek 54 0.3 6.8 0.4 32 639 52 31 32 81 12 5.1
-4 A259 5.5 0.4 7.6 0.5 32 832 72 34 36 96 13 6.0
-4 AB509 5.8 0.4 8.4 0.6 34 978 102 48 38 108 14 10.1
43 A759 6.3 0.2 8.6 0.6 46 1.073 153 87 39 124 15 9.3
3 17 21 kg/10a
INPUT OUTPUT
sz FRAZE
15 8 -23
180 134 29 17 66% 11.7%
4 25% 180 125 20 36 61% 6.5% 17
4 50% 180 99 19 62 47% 6.2% 29
4 75% 180 86 17 7 39% 5.2%

% = INPUT—OUTPUT
WK (6 W oW - oW ) /IR
FR= (4% 5 oW B-fIk o% k) /IR



